MAT 136: Calculus I - Fall 2014

Exam 2 Supplemental Problems
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Chain Rule
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Product and Quotient Rule
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All Mixed Up: Power, Product, Quotient, Chain Rules
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(f) g(v) = arcsin(cos(v)) + cos(arcsin(v)) and simplify your result
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All Mixed Up: Derivatives of Exponentials, Logarithms, Trig, Misc. Functions

24. Find the first derivative of the following functions:
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Some “log trick” problems
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28. If g(d) = ab? + 3c3d + 5b%c2d?, then what is ¢"(d)?
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31. Given the graphs of f(z) and h(z).
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33. Find the derivative in f(z) =

—= in three ways. i) using algebra and the power rule, ii) the product rule and
iii) the quotlent rule. Carry through algebra to show that these are all equal
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34. Let f(3)=2, f'(3) =4, 9(3) =1, ¢'(3) =3 and f'(1) = 5.
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d
36. If ©u = ve¥ + zy", then what is d—u?
v
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37. Use the product rule to show that the derivative of tan(z) is sec?(z).
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41. Let f(z) = € cos (2z)v/3z + 1, find ().
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42. Let f(z) = %+m2—3x for all z € R.

(a) For what values (there are two of them) is f/(z) = 0.
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(b) List the intervals where f is increasing. Don’t use a graph.
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(c) List the intervals where f is decreasing. Don’t use a graph.
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(d) Where does f have a local maximum?

X=-3

(e) What is the local minimum value of f?

‘P (‘3} = L’Ef »~ (-3 )1 "%Cﬁ)
3



